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Test is Tuesday!!



Attachments

Q Example - Squaring a Binomial.avi

Q  Worksheet - Expanding.pdf
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Exercise

A Review the skills needed to multiply two binomials.

Multiply.

@ (y+3)y+2
d (y=30-2
@ y—06u+T7

© +6)y—"7
(f) (a—35)(a+ 3)
D (x+y»x-—y

() (k + 1)k + 6)
€ (x—3)x+2)
h) (y—"NDy+7)

Use a diagram to illustrate each of the following.
() (x+2y)(x+2y)= x2 + 4xy + 4y?

(b) (v = ) = x* = 2xy + (©) (2x — 3 = 4 — 4wy + 7

Find the products. How long did it take you?
@ (y+3)Gy—>5) (b) (2a + 4)(3a—7)
@ (-Hy+4 (€) (x—6)(x+2)
(8) Ux—2(x+7) (h) (x — 9y)(2x +y)
(G) @+ k)6 + k) (k) 3k —2)(3k +2)

(¢) (3t +3)(t—3)
(f) (m+ 7)(m + 2)
(i) (x+ Dx+38)
) Bx—DEx+1)

Simplify each of the following.

(@) 3(x — (x — 4) (b) —4(x — 3)(2x — 5)
(d) 82y —6)CBy + 1) © —2x—y’

(g) —2(k—6)(k+8) (h) —(2m — 3)(m — 3)
(4) 26Br—92p—9) k) 2(2x — y)?

(c) 33k + 1)

() —302x — y)2x + )
(i) 3(x— 5)?

() —2a—5)(a+6)

Review the method that helps you multiply polynomials mentally.

Expand.
(@) (x* —8)(x* —3)

o (-6

(2) (ab — 6)(ab + 6)

© @y*—1)(6y*+7)

© @x—1? 0 Gy 57
1 2 ) 5 2
(0) <2x = 5) 0 <4x - 5)

Simplify. :
(@) (x —4)(x —3) = 2x —4)(x +3) (b) 32 — M3 +y) =4y — 6y +5)

(© (a—3)2a—2)+2(2a+ 3HQ2a—1) (d) 3(5m+ 4im— 6) — 2(m — 6)(3m + 7
€ (Bx—5%*—2x—5(x+5) f) 2a—1>—-(@+ 1)?

(@ 3(x—y)?* =30+ yx—2y) (h) 2(a — 2b)* — 3(b — 2a)’

7

(b) (8 + 2a)(1 + a)

Expand and simplify.
(a) (x + ) (2x = y)x +)
(¢) (3x = 2)(2* —2x + 1)

(b) (2a — b)(3a + b)(a — b)
(d) (a — 2b)(3d* — 2ab + b?)
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